
Question 1

Pyridine-N-oxide is reactive towards-
িপিরিডন-এন-অ�াইেডর সােথ �িত��য়াশীল-

Question 2

Which of the following compounds yields a secondary alcohol upon reaction with methylmagnesium bromide?
িমথাইলম�াগেনিসয়াম ��ামাইেডর সােথ িব��য়ায় িনেচর �কান �যৗগ�ট �সেক�ারী অ�ালেকাহল �দয়?

Question 3

Which is the main product of the following reaction?

িন�িলিখত িব��য়া�টর �ধান উপজাত �ব� �কান�ট?

Question 4

Among the following compounds the one that is most reactive towards electrophilic nitration is _____
িনে�া� �যৗগ�িলর মেধ� �য�ট ইেলে�ািফিলক নাইে�শন িব��য়ার �িত সবেচেয় �বিশ িব��য়াশীলতা হেলা _____

Question 5

How many enolisable hydrogens are there in the following compound?

িন�িলিখত �যৗেগ কত�িল এেনালাইেজবল হাইে�ােজন রেয়েছ?

Question 6

What is the name of the following reaction?

িন�িলিখত িব��য়া�টর নাম কী?
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Question 7

Toluene is nitrated and the resulting product(s) are reduced with Sn/HCl. The product(s) so obtained are diazotized and then heated with cuprous bromide.
The final product(s) so formed contains___
টলুইনেক �থেম নাইে�শন করা হয় এবং �া� �যৗগেক Sn/HCl িদেয় িবজারণ করা হয়। উহা �থেক �া� �যৗগেক (�িল) ডায়ােজাটাইেজশন িব��য়া করােনা হেলা এবং
তারপের কপার ��ামাইড সহেযােগ উ�� করা হয়। ইহার ফেল গ�ঠত �যৗগ (�িল)  �কান�ট____

Question 8

The correct sequence of reactions to be performed to convert benzene into m-bromoaniline is ______
�বন�জনেকm –��ােমাঅ�ািনিলেন �পা�র করেত িব��য়ার স�ঠক ধাপ�িল হেলা_________

Question 9

Which of the following statements about primary amines is ‘False’? 
�াইমাির অ�ািমনস স�েক� িনেচর �কান তথ��ট ‘িমথ�া’?

Question 10

The correct sequence of steps involved in the mechanism of Cannizzaro's reaction is _____.
ক�াি�জােরা িব��য়ার ��য়া �কৗশেলর সােথ জিড়ত স�ঠক ধাপ�িল হেলা_____।

Question 11

Question 12

The correct order of decreasing acid strength of trichloroacetic acid (A), trifluoroacetic acid (B), acetic acid (C) and formic acid (D) is ___
�াইে�ােরা অ�ােস�টক অ�ািসড (A), �াইে�ােরা অ�ােস�টক অ�ািসড (B), অ�ােস�টক অ�ািসড (C) এবং ফিম �ক অ�ািসড (D) এর অ�ািসড শ��র �ম �াসমান স�ঠক �ম�ট
হেলা___

Question 13

Ozonolysis of an organic compound 'A' produces acetone and propionaldehyde in equimolar mixture. Identify 'A' from the following compounds.
�জবেযৗগ 'A' এরও �জােনালাইিসস এর ফেল সমত�ল� পিরমাণ অ�ািসেটান এবং ��ািপওনালিডহাইড এর িম�ণ উৎপ� হয়। িন�িলিখত �যৗগ�িল �থেক 'A' শনা� ক�ন।

Question 14

Which of the following reactions will not result in the formation ofnew carbon-carbon bond? 
িনেচর �কান িব��য়া�টর ফেল নত�ন কাব �ন-কাব �নব�নগঠন ঘটেব না?

Question 15



Suggest the product which be formed in the following reactions.

িন�িলিখত িব��য়া�টর �ধান উপজাত �ব� �কান�ট?

Question 16

In which orbital, the electron of Nitrogen participating in the resonance in pyridine is present?
িপিরিডেনর �রেজান�াে� অংশ�হণকারী নাইে�ােজেনর ইেল�ন�িল �কান ক�েক অবি�ত?

Question 17

In which orbital, the electron of Nitrogen participating in the resonance in pyridine is present?

Question 18

What is the name of the following reaction?

Question 19

What is the product of the following transformation? 

Question 20

What are the Structure of ‘A’ and type of isomerism in the following reaction? 



Question 21

Question 22

Question 23

What is the correct order of reactivity of pyrrole, furan and thiophene towards electrophiles? 

Question 24

]



Question 25

Question 26

Question 27

Question 28

What product is obtained when Benzene diazonium chloride reacts with hypophosphorus acid? 

Question 29



Question 30

Predict the product ‘Z’ in the following reaction sequence. 


